# International Journal of Analysis and Applications

International Journal of Analysis and Applications

## Some New Versions of Various Inequalities over Trapezoidal Fuzzy Codomain

# Muhammad Bilal Khan<sup>1,2,\*</sup>, Patricia J. Y. Wong<sup>3</sup>, Miguel Vivas Cortez<sup>4</sup>, Nurnadiah Zamri<sup>2</sup>, Loredana Ciurdariu<sup>5</sup>

<sup>1</sup>Department of Mathematics and Computer Science, Transilvania University of Brasov, Brasov 500036, Romania

<sup>2</sup>Faculty of Informatics and Computing, Universiti Sultan Zainal Abidin, Besut Campus, 22200 Besut, Terengganu, Malaysia

 <sup>3</sup>School of Electrical and Electronic Engineering, Nanyang Technological University, Singapore
 <sup>4</sup>Escuela de Ciencias F´ısicas y Matem´aticas, Facultad de Ciencias Exactas y Naturales, Pontificia Universidad Cat´olica del Ecuador, Av. 12 de Octubre 1076, Apartado, Quito 17-01-2184, Ecuador
 <sup>5</sup>Departembt If Mathematica, Politehnica University of Timişoara, 300006, Timisoara, Romania \*Correspondence: muhammad.bilal@unitbv.ro

ABSTRACT. Considerable attention has been given to Hölder's inequality, its extensions, and its reverse within the realms of differential equations and mathematical analysis. This study uses a new approach to find the novel version of Hölder's inequality by employing a fundamental analytical approach rooted in algebra and calculus known as trapezoidal fuzzy Hölder's inequality. With the help of Hölder's inequality, trapezoidal fuzzy Minkowski's inequality and trapezoidal fuzzy Beckenbach's inequality are also obtained. As specific examples of the inequalities mentioned earlier, our results illustrate various outcomes related to trapezoidal fuzzy Hölder's inequality. These outcomes show that the behavior of these inequalities is better than the classical results. For the validation of the results, some examples are also provided.

### 1. Introduction

A key idea in mathematical analysis, Hölder's inequality [1] extends the Cauchy-Schwarz inequality to numerous sequences and variable exponents. Differential equations, probability theory, and functional analysis are just a few of the mathematical disciplines that use it, see [2]. This inequity has undergone numerous revisions and reversals over time, see [3]. For example,

Received Feb. 7, 2025

<sup>2020</sup> Mathematics Subject Classification. 26A33, 26A51, 26D10.

*Key words and phrases.* Hölder's inequality over trapezoidal fuzzy  $\mathbb{L}_P$  space; Minkowski's inequality; Beckenbach's inequality.

the square (or higher-power) roots of expressions in inequalities are handled by the reverse Hölder inequality, which eliminates them by repeated multiplication, see [4]. In many branches of mathematics, both the Cauchy-Schwarz inequality and Hölder's inequality are important tools for carrying out analysis.

Many researchers have explored and developed ways to generalize, refine, sharpen, and apply this inequality in the literature. Cauchy [5] introduced a class of inequalities involving inner products of vectors and functions. Subsequently, these generalizations and extensions led to the Schwarz, Minkowski, and Hölder inequalities. Mathematicians and scientists employ inequalities as crucial tools to describe relationships, establish boundaries, and solve various problems. Inequalities are prevalent in numerous branches of mathematics. They are frequently encountered in algebra, geometry, and analysis, see [6], and [7].

Hölder's inequality has significant implications in functional analysis, probability theory, and partial differential equations. It is particularly useful for establishing connections between different function spaces, estimating the norms of integral operators, and proving the convergence properties of function sequences. Hölder's inequality, a crucial concept in mathematics, relates norms, integrals, and the inner products of functions and vectors. By adjusting the exponents or incorporating additional terms, Hölder's inequality can be refined to provide more precise upper bounds in specific situations, see [8]. These enhancements are particularly useful when dealing with specific types of functions or when more information about the functions is available. By customizing the inequality, these enhancements yield more accurate estimates and highlight complex interactions between functions.

On the other hand, Hölder's inequality reversals seek to provide lower bounds for the supplied phrase (see [9],[10]). A reverse inequality gives information on the lowest possible value, whereas the original inequality gives an upper bound. Reversals aid in illuminating Hölder's inequality's optimality and clarifying the accuracy of the constraints it establishes. They are especially useful in defining situations in which there are particular interdependencies across functions, see [11].

Hölder's inequality is integral to various contemporary mathematical fields, such as fuzzy measure theory, real and complex analysis, probability and statistics, qualitative theory of differential equations and their applications, and numerical analysis. This classical inequality has been extensively studied by many authors, forming the basis for numerous research papers that offer different proofs, generalizations, variations, and applications (see, for example, [12], [13], [14] and [15] and references therein). Notable sources on this inequality include works by Agahi et al. [16], [17] and [18], Flores-Franulić and Román-Flores [19], Hu [20], Khrennikov [21], Mesiar and Mesiarová [22], Mesiar and Ouyang [23], Ouyang and Mesiar [24], [25], Ouyang et al. [26], Román-Flores et al. [27], [28], and Wu [29]. Additionally, various authors have explored the

applications of Hölder's inequality in the information sciences. For instance, Li and Wu [30] introduced a distinct class of Cohen-Grossberg neural networks with delays, employing inverse Hölder neuron activation functions. Özkan et al. [31] applied Hölder's inequality to temporal scales. Singh et al. [32] utilized Hölder's inequality to establish two coding theorems for the R-norm information measure.

Khan et al. have developed new forms of fuzzy integral inequalities using fuzzy fractional integrals, establishing a connection between inclusion relations and UD fuzzy relations [33], [34]. Furthermore, several compelling examples are provided to support the validity of these findings. For more information on this topic, refer to the cited study. For additional details on fuzzy theory, see [35], [36], [37], [38], [39] and the referenced works. Khastan and Rodríguez-López [40] recently introduced real-valued functions across the fuzzy domain and explored specific properties of such functions over fuzziness using Lebesgue measures. After that Khan and Guirao [41] extended this version of integral to fractional integrals that are known as Riemann-Liouville fractional-like integrals over fuzzy domain. Moreover, the properties of convex-like functions over fuzzy domain are discussed. For more information, see [42], [43], [44], [45], [46], [47], [48], [49], [50], [51], [52], [53], [54], [55], respectively, and the references therein.

Encouraged and driven by ongoing research, this study is organized as follows. Section 2 defines preliminary concepts such as young inequality, Hölder's inequality, fuzzy number ( $F \cdot N$ ), and explains integral over trapezoidal fuzzy number ( $T \cdot F \cdot N$ ) of a real valued mapping. In Section 3, the main results are discussed such that a new version of the Hölder's integral inequality over  $T \cdot F \cdot Ns$  is introduced, where integrable functions are real valued functions over  $T \cdot F \cdot Ns$ . Moreover, some classical and new exceptional cases are also acquired. Section 4 discusses the trapezoidal fuzzy Minkowski's and, Beckenbach's-type integral inequalities in the context of real valued functions over  $T \cdot F \cdot Ns$ . Furthermore, a nontrivial case is given to explain the applicability of trapezoidal fuzzy logic and the validity of the primary results. It also proves Hölder's integral inequality. Finally, Section 5 provides concluding remarks.

#### 2. Preliminaries

For two scalar quantities, the \_-weighted arithmetic–geometric mean inequality corresponds to the widely recognized Young's inequality. When both z and y are positive, and  $\tau$  lies within the interval [0, 1], the relationship  $z^{\tau}y^{1-\tau} \leq \tau z + (1-\tau)y$ 

$$z^{\gamma} y^{1-\gamma} \le \gamma z + (1-\gamma) y, \qquad (2.1)$$

holds true, (2.1) with equality occurring exclusively when z = y, as indicated by this inequality. Let p, q > 1 with  $\frac{1}{p} + \frac{1}{q} = 1$ . Inequality (2.1) can be written as

$$zy \le \frac{z^p}{p} + \frac{y^q}{q},\tag{2.2}$$

where the both real numbers *z* and *y* are positive.

In this formulation, inequality (2.2) was used to derive the famous Hölder's inequality, a basic inequality in mathematical analysis. It has many uses in both theoretical and practical mathematics and is a vital instrument for solving many issues in the social, cultural, and natural sciences.

**Theorem 2.1.** (Hölder's inequality [1]) Suppose p > 1 and  $\frac{1}{p} + \frac{1}{q} = 1$ . If Q and G are two real functions stated on [a, b] such that  $|Q|^p$  and  $|G|^q$  are integrable functions on [a, b], then,

$$\int_{a}^{b} |\mathcal{Q}(z)\mathcal{G}(z)| dz \leq \left[\int_{a}^{b} |\mathcal{Q}(z)|^{p} dz\right]^{\frac{1}{p}} \left[\int_{a}^{b} |\mathcal{G}(z)|^{q} dz\right]^{\frac{1}{q}} , \qquad (2.3)$$

with equality if and only if *Q* and *G* are proportional.

#### Fuzzy theory

**Definition 2.1.** [38] A mapping  $\widetilde{\mathcal{D}}$ :  $\mathbb{R} \to [0,1]$ , also referred to as the membership mapping of *T*, is what defines a fuzzy subset *T* of  $\mathbb{R}$ . Therefore, we use this nomenclature going forward for our research. To denote the collection of all fuzzy subsets of  $\mathbb{R}$ , we call it  $\mathbb{E}$ . Fuzzy numbers' central concept was first presented by Goetschel and Voxman in [37] and goes as follows:

Assume  $\tilde{D}$  to be in  $\mathbb{E}$ . Then, if  $\tilde{D}$  meets the following criteria, it is identified as a  $F \cdot N$  or fuzzy interval:

(1)  $\widetilde{\mathcal{D}}$  should be normal if there exists  $z \in \mathbb{R}$  and  $\widetilde{\mathcal{D}}(z) = 1$ ;

(2)  $\widetilde{D}$  should be upper semi-continuous on  $\mathbb{R}$  if for given  $z \in \mathbb{R}$ , and  $\varepsilon > 0$  there exist  $\delta > 0$  such that  $\widetilde{D}(z) - \widetilde{D}(y) < \varepsilon$  for all  $y \in \mathbb{R}$  with  $|z - y| < \delta$ ;

(3) $\widetilde{D}$  should be fuzzy convex, meaning  $\widetilde{D}((1 - r)z + ry) \ge \min(\widetilde{D}(z), \widetilde{D}(y))$ , for all  $z, y \in \mathbb{R}$ , and  $r \in [0, 1]$ ;

(4)  $\widetilde{D}$  should be compactly supported, i.e.,  $cl\{z \in \mathbb{R} | \widetilde{D}(z) > 0\}$  is compact.

We designate  $\mathbb{E}_C$  to represent the set of all  $F \cdot Ns$  of  $\mathbb{R}$ .

**Definition 2.2.** [38] Given  $\widetilde{D} \in \mathbb{E}_{C}$ , the level sets or cut sets are stated as  $[\widetilde{D}]^{\lambda} = \{z \in \mathbb{R} | \widetilde{D}(z) > \lambda \}$  for all  $\lambda \in [0, 1]$ .

From these definitions, we have

$$\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [\Lambda(\lambda), \upsilon(\lambda)], \qquad (2.4)$$

Where,

$$\Lambda(\lambda) = \inf\{z \in \mathbb{R} | \widetilde{\mathcal{D}}(z) \ge \lambda\},\$$
$$\upsilon(\lambda) = \sup\{z \in \mathbb{R} | \widetilde{\mathcal{D}}(z) \ge \lambda\}.$$

**Remark 2.1.** [39] Let  $\mathcal{X}_C$  be the set of intervals. Then, for each interval  $[\mathfrak{a}, \mathfrak{b}] \in \mathcal{X}_C$ , the characteristic function  $[\mathfrak{a}, \mathfrak{b}]: \mathbb{R} \to [0,1]$  is stated by

$$[\overline{a, b}](z) = \begin{cases} 1, & z \in [a, b] \\ 0, & \text{otherwise.} \end{cases}$$
(2.5)

Degraded intervals, being interpretable as real numbers, allow us to consider  $F \cdot Ns$  as a generalization of the set of closed intervals of real numbers, i.e.,  $\mathcal{X}_C \subseteq \mathbb{E}_C$  and, consequently,  $\mathbb{R} \subseteq \mathbb{E}_C$ . Instead of denoting [ $\mathfrak{b}, \mathfrak{b}$ ], we simply use  $\tilde{\mathfrak{b}}$ . As stated in [39], a  $F \cdot N \tilde{\mathfrak{b}}$  is also referred to as a fuzzy singleton or a crisp number.

Keeping in mind the ideas frequently seen in the literature, if  $\tilde{D}, \tilde{J} \in \mathbb{E}_{c}$ , then the arithmetic operations are expressed as follows for each  $\lambda \in [0, 1]$ :

$$\left[\widetilde{\mathcal{D}} \bigoplus \widetilde{\mathcal{I}}\right]^{\lambda} = \left[\widetilde{\mathcal{D}}\right]^{\lambda} + \left[\widetilde{\mathcal{I}}\right]^{\lambda}, \tag{2.6}$$

$$\left[\widetilde{\mathcal{D}} \otimes \widetilde{\mathcal{I}}\right]^{\lambda} = \left[\widetilde{\mathcal{D}}\right]^{\lambda} \times \left[\widetilde{\mathcal{I}}\right]^{\lambda}, \tag{2.7}$$

$$\left[\mathfrak{r}\odot\widetilde{\mathcal{D}}\right]^{\lambda}=\mathfrak{r}.\left[\widetilde{\mathcal{D}}\right]^{\lambda}.$$
(2.8)

**Theorem 2.2.** [38] The space  $\mathbb{E}_C$  dealing with a supremum metric, i.e., for  $\widetilde{\mathcal{D}}, \widetilde{\mathcal{I}} \in \mathbb{E}_C$ , the expression

$$d_{\infty}(\widetilde{\mathcal{D}},\widetilde{\mathcal{A}}) = \sup_{0 \le \lambda \le 1} d_H \left( [\widetilde{\mathcal{D}}]^{\lambda}, [\widetilde{\mathcal{A}}]^{\lambda} \right), \tag{2.9}$$

defines a complete metric space, where *H* refers to the widely recognized Hausdorff metric used in the context of interval spaces.

Let us revisit some of the core concepts of integration over a fuzzy domain, where real-valued functions defined on fuzzy domains are considered integrable functions.

**Definition 2.3.** [40] If  $\widetilde{\mathcal{D}} \in \mathbb{E}_{C}$ , and  $\mathcal{Q}: \widetilde{\mathcal{D}} \subseteq \mathbb{R}^{n} \to \mathbb{R}$  is measurable on  $[\widetilde{\mathcal{D}}]^{0}$  (and consequently every  $[\widetilde{\mathcal{D}}]^{\lambda}$ , for all  $\lambda \in [0,1]$ ), the definition is established as follows

$$\left(\int_{\widetilde{D}} \mathcal{Q}\right)(\lambda) = \int_{\left[\widetilde{D}\right]^{\lambda}} \mathcal{Q}(z) \, dz, \tag{2.10}$$

when employing Lebesgue integration to evaluate the integral on the right-hand side, if the integral  $\int_{[\tilde{D}]^0} Q(z) dz$  is finite, it signifies that Q is integrable over the fuzzy domain. Under these circumstances, the mapping can be represented as follows:

$$\int_{\widetilde{D}} \mathcal{Q} : [0, 1] \to \mathbb{R}$$
  
 
$$\lambda \to \left( \int_{\widetilde{D}} \mathcal{Q} \right)(\lambda) = \int_{\left[ \widetilde{D} \right]^{\lambda}} \mathcal{Q}(z) \, dz.$$
(2.11)

**Remark 2.2.** Using Remark 2.1, we obtain the classical definition of the integral, which applies to integrable real-valued functions.

#### 3. Trapezoidal fuzzy $\mathbb{L}_P$ space and Hölder's Inequality

In this study, we obtain new versions of integral forms of Hölder's inequality using a simple proof procedure.

Conversely, taking into account that the  $T \not F \cdot Ns \widetilde{D} = (t, n; \pi, \mu)$ , where  $t, n \in \mathbb{R}$ , and  $\pi, \mu \in \mathbb{R}$ , thus

$$\widetilde{\mathcal{D}}(z) = \begin{cases} 1, & \upsilon \in [t, n_{\circ}] \\ \frac{\upsilon - t + \pi}{\pi}, & \upsilon \in [t - \pi, t] \\ \frac{n + \mu - \upsilon}{\mu}, & \upsilon \in [n_{\circ}, n_{\circ} + \mu] \\ 0, & \text{otherwise.} \end{cases}$$
(3.1)

The accompanying figure illustrates the geometric depiction of *T F N*s:



Figure 1: Trapezoidal fuzzy number

with a parametrized form of

$$\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [\mathfrak{t} - \pi(1 - \lambda), \mathfrak{n} + \mu(1 - \lambda)], \text{ for all } \lambda \in [0, 1].$$
(3.2)

Then

$$\mathbb{L}_{P}[\widetilde{\mathcal{D}}] = \left\{ \mathcal{Q} \mid \mathcal{Q} \colon [\mathfrak{t} - \pi(1 - \lambda), \mathfrak{n} + \mu(1 - \lambda)] \to \mathbb{R} \text{ is measurable on}[[\mathfrak{t} - \pi(1 - \lambda), \mathfrak{n} + \mu(1 - \lambda)]] \text{ and } \int_{[[\mathfrak{t} - \pi(1 - \lambda), \mathfrak{n} + \mu(1 - \lambda)]]} \mathcal{Q}(\mathsf{z}) \, d\mathsf{z} < \infty, \text{ for all } \lambda \in [0, 1] \right\}.$$

$$(3.3)$$

**Remark 3.1.** Utilizing Remark 2.1 and Remark 2.2, we derive the classical  $\mathbb{L}_{p}[\overline{a}, \overline{b}]$  space.

The following result discusses the new version of Hölder's inequality.

**Theorem 3.1.** (Trapezoidal fuzzy Hölder's inequality) Suppose p > 1 and  $\frac{1}{p} + \frac{1}{q} = 1$ . If Q and G are two real functions stated on  $\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$  such that  $|Q|^p$  and  $|G|^q$  are integrable functions on  $\left[\widetilde{\mathcal{D}}\right]^{\lambda}$ , then, for each  $\lambda \in [0,1]$ 

$$\int_{\mathfrak{t}-\mathfrak{n}(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} |\mathcal{Q}(\mathsf{z})\mathcal{G}(\mathsf{z})| \, d\mathsf{z} \leq \left[\int_{\mathfrak{t}-\mathfrak{n}(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} |\mathcal{Q}(\mathsf{z})|^p \, d\mathsf{z}\right]^{\frac{1}{p}} \left[\int_{\mathfrak{t}-\mathfrak{n}(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} |\mathcal{G}(\mathsf{z})|^q \, d\mathsf{z}\right]^{\frac{1}{q}},\tag{3.4}$$
with equality if and only if  $\mathcal{Q}$  and  $\mathcal{G}$  are proportional.

Proof. Since  $[\widetilde{D}]^0 = [\mathfrak{t} - \pi, \mathfrak{n} + \mu]$  (and consequently every  $[\widetilde{D}]^{\times}$ , for all  $\lambda \in [0,1]$ )  $\int_{[\widetilde{D}]^0} |\mathcal{Q}(z)\mathcal{G}(z)| dz = \int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{Q}(z)\mathcal{G}(z)| dz$ , on every  $[\widetilde{D}]^{\times}$ , for all  $\lambda \in [0,1]$ . *Case I.* If  $\eta = \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{Q}(z)|^p dz\right]^{\frac{1}{q}} = 0$ , and  $\xi = \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{G}(z)|^q dz\right]^{\frac{1}{q}} = 0$ , it is obvious that equality will hold because functions  $\mathcal{Q}$  and  $\mathcal{G}$  are measurable on  $[\widetilde{D}]^{\times} = [\mathfrak{t} - \pi(1 - \lambda), \mathfrak{n} + \mu(1 - \lambda)]$ . *Case II.* Consider  $\eta = \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{Q}(z)|^p dz\right]^{\frac{1}{q}} \neq 0$ , and  $\xi = \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{G}(z)|^q dz\right]^{\frac{1}{q}} \neq 0$  (and consequently every  $[\widetilde{D}]^{\times}$ , for all  $\lambda \in [0,1]$ ). Let  $u = \frac{|\mathcal{Q}(z)|}{\eta}, v = \frac{|\mathcal{G}(z)|}{\xi}$ , then by using inequality (2.2) we have  $\frac{|\mathcal{Q}(z)||\mathcal{G}(z)|}{n\xi} \leq \frac{|\mathcal{Q}(z)|^p}{m^p} + \frac{|\mathcal{G}|^q}{q\xi^q}$ .

Considering integration over  $[\tilde{D}]^0 = [t - \pi, n + \mu]$  (and consequently every  $[\tilde{D}]^{\wedge}$ , for all  $\lambda \in [0,1]$ ) with respect to z, we have

$$\frac{1}{\eta\xi} \int_{t-\pi}^{n+\mu} |Q(z)G(z)| \, dz \leq \frac{1}{p\eta^p} \int_{t-\pi}^{n+\mu} |Q(z)|^p \, dz + \frac{1}{q\xi^q} \int_{t-\pi}^{n+\mu} |G|^q \, dz,$$

(and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda}$ , for all  $\lambda \in [0,1]$ ), which implies that

$$\frac{1}{\eta\xi}\int_{t-\pi}^{n+\mu}|\mathcal{Q}(z)\mathcal{G}(z)|\,dz\leq\frac{1}{p\eta^p}(\eta^p)+\frac{1}{q\xi^q}(\xi^q),$$

 $=\frac{1}{p}+\frac{1}{q}=1$ , (and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda}$ , for all  $\lambda \in [0,1]$ ). Then,

$$\int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)\mathcal{G}(z)| dz \leq \left[\int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)|^p dz\right]^{\frac{1}{p}} \left[\int_{t-\pi}^{n+\mu} |\mathcal{G}(z)|^q dz\right]^{\frac{1}{q}},$$

(and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda}$ , for all  $\lambda \in [0,1]$ ), which implies that

$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |\mathcal{Q}(z)\mathcal{G}(z)| dz \leq \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |\mathcal{Q}(z)|^p dz\right]^{\frac{1}{p}} \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |\mathcal{G}(z)|^q dz\right]^{\frac{1}{q}},$$

for each  $\lambda \in [0,1]$ .

**Remark 3.2.** If  $n_{P} = t$ , then triangular  $F \cdot Ns$  ( $T \cdot F \cdot Ns$ )  $\widetilde{D} = (t; \pi, \mu)$ , where  $t \in \mathbb{R}$ , and  $\pi, \mu \in \mathbb{R}$ , thus

$$\widetilde{\mathcal{D}}(z) = \begin{cases} \frac{\upsilon - t + \pi}{\pi}, & \upsilon \in [t - \pi, t] \\ \frac{t + \mu - \upsilon}{\mu}, & \upsilon \in (t, t + \mu] \\ 0, & \text{otherwise.} \end{cases}$$
(3.5)

The following is the geometric representation of *T* + *N*s:



Figure 2: Trapezoidal fuzzy number

with a parametrized form of  $\left[\widetilde{\mathcal{D}}\right]^{\times} = [\mathfrak{t} - \pi(1 - \lambda), \mathfrak{t} + \mu(1 - \lambda)]$ , for all  $\lambda \in [0, 1]$ . Then inequality (3.4) simplifies to the Hölder's-like inequality over  $T \not\in \mathcal{N} \widetilde{\mathcal{D}}$  such that

$$\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |\mathcal{Q}(z)\mathcal{G}(z)| \, dz \le \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |\mathcal{Q}(z)|^p \, dz\right]^{\frac{1}{p}} \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |\mathcal{G}(z)|^q \, dz\right]^{\frac{1}{q}}.$$
(3.6)

**Remark 4.1.** If  $\tilde{D} = [\tilde{a}, \tilde{b}]$ , then from (3.4), we get the classical Hölder's-like inequality (2.3) for real-valued mappings.

## 4. Applications

When we write  $|\mathcal{Q}||\mathcal{G}| = \left(|\mathcal{Q}|^{\frac{1}{p}}\right) \left(|\mathcal{Q}|^{\frac{1}{q}}|\mathcal{G}|\right)$ , as a straightforward outcome of the Hölder's Inequality, we have the trapezoidal fuzzy Hölder's power-mean-like integral inequality that follows:

**Theorem 4.1.** Suppose p > 1. If Q and G are two real functions stated on  $F \cdot N [\widetilde{D}]^{\sim} =$  $[t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$  such that |Q| and  $|Q||G|^q$  are integrable functions on  $[\widetilde{D}]^{\lambda}$ , then

$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)G(z)| \, dz \le \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)| \, dz\right)^{1-\frac{1}{q}} \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)| |G(z)|^q \, dz\right)^{\frac{1}{q}}.$$
(4.1)

**Proof.** By using similar arguments as in Theorem 3.1, it can be proved.

If p = 2 = q, then we attain the following outcome:

Corollary 1. (Trapezoidal fuzzy Cauchy-Schwarz's inequality) In accordance with the premises of Theorem 3.1, if p = 2 = q, then, it is evident that

$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)G(z)| \, dz \le \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)|^2 \, dz\right)^{\frac{1}{2}} \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |G(z)|^2 \, dz\right)^{\frac{1}{2}},\tag{4.2}$$

for each  $\lambda \in [0,1]$ .

# 4.1 Trapezoidal fuzzy Minkowski's inequality

In this subsection, we propose Minkowski's inequality over T F N.

**Theorem 4.2.** (Minkowski's inequality) Suppose  $p \ge 1$ . If Q and G are two real functions stated on  $[\widetilde{\mathcal{D}}]^{\lambda} = [t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$  such that  $|\mathcal{Q}|^p$  and  $|\mathcal{G}|^p$  are integrable functions on  $[\widetilde{\mathcal{D}}]^{\lambda}$ , then, for each  $\lambda \in [0,1]$ 

$$\left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z) + G(z)|^p \, dz\right)^{\frac{1}{p}} \le \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)|^p \, dz\right]^{\frac{1}{p}} + \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |G(z)|^p \, dz\right]^{\frac{1}{p}},\tag{4.3}$$

with equality if and only if *Q* and *G* are proportional.

If 
$$1 > p > 0$$
, then

$$\left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z) + \mathcal{G}(z)|^p \, dz\right)^{\frac{1}{p}} \ge \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)|^p \, dz\right]^{\frac{1}{p}} + \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |\mathcal{G}(z)|^p \, dz\right]^{\frac{1}{p}}.$$
(4.4)

**Proof.** *Case I.* Suppose that p = 1. We know that

$$|\mathcal{Q}(\mathsf{z}) + \mathcal{G}(\mathsf{z})| \le |\mathcal{Q}(\mathsf{z})| + |\mathcal{G}(\mathsf{z})|.$$

Considering integration on both sides over  $\left[\widetilde{\mathcal{D}}\right]^{0} = [t - \pi, n + \mu]$  (and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda}$ , for all  $\lambda \in [0,1]$ ), we have

$$\int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)| \, dz \leq \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)| \, dz + \int_{t-\pi}^{n+\mu} |\mathcal{G}(z)| \, dz,$$

which implies that

$$\int_{t-\pi(1-\lambda)}^{t_{r}+\mu(1-\lambda)} |\mathcal{Q}(z) + \mathcal{G}(z)| \, dz \leq \int_{t-\pi(1-\lambda)}^{t_{r}+\mu(1-\lambda)} |\mathcal{Q}(z)| \, dz + \int_{t-\pi(1-\lambda)}^{t_{r}+\mu(1-\lambda)} |\mathcal{G}(z)| \, dz.$$

*Case II.* Consider that p > 1 and that p and q are conjugate indices. Then,

$$\int_{t-\pi}^{n+\mu} |Q(z) + G(z)|^p dz = \int_{t-\pi}^{n+\mu} |Q(z) + G(z)| |Q(z) + G(z)|^{p-1} dz$$
$$= \int_{t-\pi}^{n+\mu} |Q(z)| |Q(z) + G(z)|^{p-1} dz + \int_{t-\pi}^{n+\mu} |G(z)| |Q(z) + G(z)|^{p-1} dz.$$

By using Hölder's-like inequality, we have

$$\begin{split} \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^p \, dz &\leq \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)|^p \, dz \right]^{\frac{1}{p}} \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^{(p-1)q} \, dz \right]^{\frac{1}{q}} \\ &+ \left[ \int_{t-\pi}^{n+\mu} |\mathcal{G}(z)|^p \, dz \right]^{\frac{1}{p}} \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^{(p-1)q} \, dz \right]^{\frac{1}{q}} \\ &= \left( \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)|^p \, dz \right]^{\frac{1}{p}} + \left[ \int_{t-\pi}^{n+\mu} |\mathcal{G}(z)|^p \, dz \right]^{\frac{1}{p}} \right) \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^{(p-1)q} \, dz \right]^{\frac{1}{q}}, \end{split}$$

which implies,

$$\int_{t-\pi}^{n+\mu} |Q(z) + G(z)|^p dz \le \left( \left[ \int_{t-\pi}^{n+\mu} |Q(z)|^p dz \right]^{\frac{1}{p}} + \left[ \int_{t-\pi}^{n+\mu} |G(z)|^p dz \right]^{\frac{1}{p}} \right) \left[ \int_{t-\pi}^{n+\mu} |Q(z) + G(z)|^p dz \right]^{\frac{1}{q}} \\ = \left( \left[ \int_{t-\pi}^{n+\mu} |Q(z)|^p dz \right]^{\frac{1}{p}} + \left[ \int_{t-\pi}^{n+\mu} |G(z)|^p dz \right]^{\frac{1}{p}} \right) \left[ \left( \int_{t-\pi}^{n+\mu} |Q(z) + G(z)|^p dz \right)^{\frac{1}{p}} \right]^{\frac{p}{q}}.$$

From the above inequality, we have

$$\begin{split} \left( \left( \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^p \, dz \right)^{\frac{1}{p}} \right)^p \left[ \left( \int_{t-\pi}^{n+\mu n+\mu} |\mathcal{Q}(z) + \mathcal{G}(z)|^p \, dz \right)^{\frac{1}{p}} \right]^{-\frac{p}{q}} \\ & \leq \left[ \int_{t-\pi}^{n+\mu} |\mathcal{Q}(z)|^p \, dz \right]^{\frac{1}{p}} + \left[ \int_{t-\pi}^{n+\mu} |\mathcal{G}(z)|^p \, dz \right]^{\frac{1}{p}}, \end{split}$$

implies that

$$\left(\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{Q}(\mathsf{z}) + \mathcal{G}(\mathsf{z})|^p \, d\mathsf{z}\right)^{\frac{1}{p}} \leq \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{Q}(\mathsf{z})|^p \, d\mathsf{z}\right]^{\frac{1}{p}} + \left[\int_{\mathfrak{t}-\pi}^{\mathfrak{n}+\mu} |\mathcal{G}(\mathsf{z})|^p \, d\mathsf{z}\right]^{\frac{1}{p}},$$

and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$ , for all  $\lambda \in [0, 1]$ . Hence,

$$\left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z) + G(z)|^p \, dz\right)^{\frac{1}{p}} \le \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |Q(z)|^p \, dz\right]^{\frac{1}{p}} + \left[\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} |G(z)|^p \, dz\right]^{\frac{1}{p}}.$$

For the proof of inequality (4.4), the demonstration is similar to the proof of inequality (4.3). **Remark 4.2.** Considering  $T \neq N$  such that

$$\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [\mathfrak{t} - \pi(1-\lambda), \mathfrak{t} + \mu(1-\lambda)],$$

then inequalities (4.3) and (4.4) simplify to the Minkowski's-like inequalities over  $[t - \pi(1 - \lambda), t + \mu(1 - \lambda)]$  such that for  $p \ge 1$ ,

$$\left(\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |Q(z) + G(z)|^p \, dz\right)^{\frac{1}{p}} \le \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |Q(z)|^p \, dz\right]^{\frac{1}{p}} + \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |G(z)|^p \, dz\right]^{\frac{1}{p}}.$$
(4.5)

For 1 > p > 0, we have

$$\left(\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |Q(z) + G(z)|^p \, dz\right)^{\frac{1}{p}} \ge \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |Q(z)|^p \, dz\right]^{\frac{1}{p}} + \left[\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} |G(z)|^p \, dz\right]^{\frac{1}{p}}.$$
(4.6)

**Remark 4.3.** If  $\tilde{D} = [a, \bar{b}]$ , then from (4.3) and (4.4), we get the classical Minkowski's inequality for real-valued mappings.

## 4.2 Trapezoidal fuzzy Beckenbach's inequality

In this subsection, we propose Beckenbach's inequality over  $T \neq N$ .

**Theorem 4.3.** (Beckenbach's inequality) Suppose 1 > p > 0. If Q and G are two real functions stated on  $\left[\widetilde{\mathcal{D}}\right]^{\times} = [\mathfrak{t} - \pi(1-\lambda), \mathfrak{n} + \mu(1-\lambda)]$  and Q(z) > 0, G(z) > 0, then  $\int_{0}^{\mathfrak{n}+\mu(1-\lambda)} (Q(z)+G(z))^{p+1} dz = \int_{0}^{\mathfrak{n}+\mu(1-\lambda)} (Q(z))^{p+1} dz$ 

$$\frac{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{t}+\mu(1-\lambda)} (Q(z)+\mathcal{G}(z))^{p+1} dz}{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} (Q(z)+\mathcal{G}(z))^{p} dz} \leq \frac{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{t}+\mu(1-\lambda)} (Q(z))^{p+1} dz}{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} (Q(z))^{p} dz} + \frac{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{t}+\mu(1-\lambda)} (\mathcal{G}(z))^{p+1} dz}{\int_{\mathfrak{t}-n(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} (\mathcal{G}(z))^{p} dz},$$
(4.7)

with equality if Q and G are proportional.

If  $p \ge 1$ , then

$$\frac{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z)+\mathcal{G}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z)+\mathcal{G}(z))^{p} dz} \ge \frac{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z))^{p} dz} + \frac{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{G}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{G}(z))^{p} dz}.$$
(4.8)

Proof. Let

$$l_{1} = \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q})^{p+1} dz\right)^{\frac{1}{p+1}}, \qquad l_{2} = \left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{G})^{p+1} dz\right)^{\frac{1}{p+1}}$$

and

$$J_1 = \left(\int_{\mathfrak{t}-\pi(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} (\mathcal{Q})^p \, d\mathsf{z}\right)^{\frac{1}{p}}, \qquad \qquad J_2 = \left(\int_{\mathfrak{t}-\pi(1-\lambda)}^{\mathfrak{n}+\mu(1-\lambda)} (\mathcal{G})^p \, d\mathsf{z}\right)^{\frac{1}{p}}.$$

Now by using Radon's inequality for real number, we have

$$\frac{l_1^{p+1}}{J_1^p} + \frac{l_2^{p+1}}{J_2^p} \ge \frac{(l_1 + l_2)^{p+1}}{(J_1 + J_2)^p}$$

that is to say

$$\frac{\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p+1} dz}{\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p} dz} + \frac{\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p+1} dz}{\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p} dz} \ge \frac{\left(\left(\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p+1} dz\right)^{\frac{1}{p+1}} + \left(\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p+1} dz\right)^{\frac{1}{p+1}}\right)^{p+1}}{\left(\left(\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p} dz\right)^{\frac{1}{p}} + \left(\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p} dz\right)^{\frac{1}{p}}\right)^{p}}$$
(4.9)

and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$ , for all  $\lambda \in [0, 1]$ . Now because 1 > p > 0, then 2 > p + 1 > 1, from (4.3) and (4.4), we achieve

$$\left[\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z) + \mathcal{G}(z))^{p+1} dz\right]^{\frac{1}{p+1}} \le \left(\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p+1} dz\right)^{\frac{1}{p+1}} + \left(\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p+1} dz\right)^{\frac{1}{p+1}},$$
(4.10) and

$$\left[\int_{t-\pi}^{n+\mu} (Q(z) + G(z))^p dz\right]^{\frac{1}{p}} \ge \left(\int_{t-\pi}^{n+\mu} (Q(z))^p dz\right)^{\frac{1}{p}} + \left(\int_{t-\pi}^{n+\mu} (G(z))^p dz\right)^{\frac{1}{p}}.$$
(4.11)

As we know that, if a, b, c > 0, then we have

$$a \ge c \Leftrightarrow \frac{a}{b} \ge \frac{c}{b'} \tag{4.12}$$

$$\leq c \Leftrightarrow \frac{a}{b} \geq \frac{a}{c}.$$
 (4.13)

Finally, from (4.10), (4.11), (4.12) and (4.13), we have

$$\frac{\left(\left(\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p+1} dz\right)^{\frac{1}{p+1}} + \left(\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p+1} dz\right)^{\frac{1}{p+1}}\right)^{p+1}}{\left(\left(\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z))^{p} dz\right)^{\frac{1}{p}} + \left(\int_{t-\pi}^{n+\mu} (\mathcal{G}(z))^{p} dz\right)^{\frac{1}{p}}\right)^{p}} \ge \frac{\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z) + \mathcal{G}(z))^{p+1} dz}{\int_{t-\pi}^{n+\mu} (\mathcal{Q}(z) + \mathcal{G}(z))^{p} dz},$$
(4.14)

and consequently every  $\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [t - \pi(1 - \lambda), n + \mu(1 - \lambda)]$ , for all  $\lambda \in [0, 1]$ . Hence, from (4.9) and (4.14), we obtain the required result (4.7).

For inequality (4.8), it can be proved similarly as in the proof of inequality (4.7).

b

**Remark 4.4.** When  $n_r = t_r$ , then we acquire the following result for triangular  $F \cdot N$ :

$$\left[\widetilde{\mathcal{D}}\right]^{\lambda} = [\mathfrak{t} - \pi(1 - \lambda), \mathfrak{t} + \mu(1 - \lambda)], \qquad (4.15)$$

then inequality (4.7) simplifies to the Beckenbach's-like inequality over  $T \not F \cdot N \widetilde{D}$  such that

$$\frac{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{Q}(z)+\mathcal{G}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{Q}(z)+\mathcal{G}(z))^{p} dz} \leq \frac{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{Q}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{Q}(z))^{p} dz} + \frac{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{G}(z))^{p+1} dz}{\int_{t-\pi(1-\lambda)}^{t+\mu(1-\lambda)} (\mathcal{G}(z))^{p} dz}.$$
(4.16)

**Remark 4.5.** If  $\tilde{D} = [\tilde{a}, \tilde{b}]$ , subsequently, from (4.7), we obtain the traditional Beckenbach's inequality for real-valued functions.

**Example 4.1.** Let the *T*  $\not$  *N* be denoted as  $\widetilde{D} = (1,2;\frac{1}{2},2)$ , which represents.

$$\widetilde{\mathcal{D}}(z) = \begin{cases} 1, & \upsilon \in [1, 2] \\ \frac{\upsilon - \frac{1}{2}}{2}, & \upsilon \in [1 - \frac{1}{2}, 1] \\ \frac{4 - \upsilon}{2}, & \upsilon \in [2, 2 + 2] \\ 0, & \text{otherwise,} \end{cases}$$
(4.17)

with a parametrized form of  $[\tilde{D}]^{\times} = [1 - \frac{1}{2}(1 - \lambda), 2 + 2(1 - \lambda)]$ , for all  $\lambda \in [0,1]$ . Let  $p = \frac{1}{2}$ , and Q(z) = z and  $G(z) = z^2$  be the real-valued mappings on fuzzy domain  $\tilde{D}$ . By direct computation, we find

$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (Q(z))^{p+1} dz = \frac{1}{20} \Big( 8(4-2\lambda)^{\frac{5}{2}} - \sqrt{2}(\lambda+1)^{\frac{5}{2}} \Big),$$
  
$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (Q(z))^{p} dz = \frac{1}{6} \Big( 4(4-2\lambda)^{\frac{3}{2}} - \sqrt{2}(\lambda+1)^{\frac{3}{2}} \Big),$$
  
$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (G(z))^{p+1} dz = \frac{1}{4} \Big( 16(\lambda-2)^{4} - \frac{1}{16}(\lambda+1)^{4} \Big),$$
  
$$\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (G(z))^{p} dz = \frac{3}{8} (5\lambda^{2} - 22\lambda + 21),$$

$$\begin{split} \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} & \left( \mathcal{Q}(z) + \mathcal{G}(z) \right)^{p+1} dz \\ &= \frac{1}{64} \begin{cases} \sqrt{(4-2\lambda)(5-2\lambda)}(9-4\lambda)(16(2-\lambda)(5-2\lambda)-3) \\ &-\sqrt{\frac{1+\lambda}{2}} \left(\frac{3+\lambda}{2}\right)(2+\lambda)\left(4(1+\lambda)\left(\frac{3+\lambda}{2}\right)-3\right) + 3\ln\left(\frac{\sqrt{4-2\lambda}+\sqrt{5-2\lambda}}{\sqrt{\frac{1+\lambda}{2}}+\sqrt{\frac{3+\lambda}{2}}}\right) \end{cases}, \\ &\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} & \left( \mathcal{Q}(z) + \mathcal{G}(z) \right)^p dz \end{split}$$

$$=\frac{1}{4}\left\{\sqrt{(4-2\lambda)(5-2\lambda)}\left(9-4\lambda-\frac{\sinh^{-1}(\sqrt{4-2\lambda})}{\sqrt{(4-2\lambda)(5-2\lambda)}}\right)-\sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)}\left(2+\lambda-\frac{\sinh^{-1}\left(\sqrt{\frac{1+\lambda}{2}}\right)}{\sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)}}\right)\right\}.$$

Now

$$\begin{split} \left[ \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z))^{p+1} dz \right]^{\frac{1}{p+1}} &= \left( \frac{1}{20} \Big( 8(4-2\lambda)^{\frac{5}{2}} - \sqrt{2}(\lambda+1)^{\frac{5}{2}} \Big) \Big)^{\frac{2}{3}}, \\ \left[ \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{G}(z))^{p+1} dz \right]^{\frac{1}{p+1}} &= \left( \frac{1}{4} \Big( 16(\lambda-2)^4 - \frac{1}{16}(\lambda+1)^4 \Big) \Big)^{\frac{2}{3}}, \\ \left( \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (\mathcal{Q}(z) + \mathcal{G}(z))^{p+1} dz \Big)^{\frac{1}{p+1}} \\ &= \left[ \frac{1}{64} \begin{cases} \sqrt{(4-2\lambda)(5-2\lambda)}(9-4\lambda)(16(2-\lambda)(5-2\lambda)-3) \\ -\sqrt{\frac{1+\lambda}{2}} \Big(\frac{3+\lambda}{2} \Big)(2+\lambda) \Big( 4(1+\lambda) \Big(\frac{3+\lambda}{2} \Big) - 3 \Big) + 3\ln \left( \frac{\sqrt{4-2\lambda}+\sqrt{5-2\lambda}}{\sqrt{\frac{1+\lambda}{2}} + \sqrt{\frac{3+\lambda}{2}}} \right) \right\} \right]^{\frac{2}{3}}. \end{split}$$

Then, from Minkowski's inequality (4.3), we establish the following

$$\begin{bmatrix} \frac{1}{64} \begin{cases} \sqrt{(4-2\lambda)(5-2\lambda)}(9-4\lambda)(16(2-\lambda)(5-2\lambda)-3) \\ -\sqrt{\frac{1+\lambda}{2}} \left(\frac{3+\lambda}{2}\right)(2+\lambda)\left(4(1+\lambda)\left(\frac{3+\lambda}{2}\right)-3\right)+3\ln\left(\frac{\sqrt{4-2\lambda}+\sqrt{5-2\lambda}}{\sqrt{\frac{1+\lambda}{2}}+\sqrt{\frac{3+\lambda}{2}}}\right) \end{cases} \end{bmatrix}^{\frac{2}{3}} \\ \leq \left(\frac{1}{20}\left(8(4-2\lambda)^{\frac{5}{2}}-\sqrt{2}(\lambda+1)^{\frac{5}{2}}\right)\right)^{\frac{2}{3}}+\left(\frac{1}{4}\left(16(\lambda-2)^{4}-\frac{1}{16}(\lambda+1)^{4}\right)\right)^{\frac{2}{3}}, \tag{4.18}$$

for each  $\lambda \in [0,1]$ . In Figure 3, we validate the inequality (4.18) by plotting the difference = (right side - left side) against  $\lambda$ . It is clear from the graph that (4.18) indeed holds for each  $\lambda \in [0,1]$ . Next, to apply Minkowski's inequality (4.4), we have

$$\begin{bmatrix} \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (Q(z))^p dz \end{bmatrix}^{\frac{1}{p}} = \left(\frac{1}{6} \left(4(4-2\lambda)^{\frac{3}{2}} - \sqrt{2}(\lambda+1)^{\frac{3}{2}}\right)\right)^2, \\ \begin{bmatrix} \int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} (G(z))^p dz \end{bmatrix}^{\frac{1}{p}} = \left(\frac{3}{8}(5\lambda^2 - 22\lambda + 21)\right)^2,$$

$$\left(\int_{t-\pi(1-\lambda)}^{n+\mu(1-\lambda)} \left(\mathcal{Q}(z) + \mathcal{G}(z)\right)^p dz\right)^{\frac{1}{p}} = \left[\frac{1}{4} \left\{\sqrt{(4-2\lambda)(5-2\lambda)} \left(9 - 4\lambda - \frac{\sinh^{-1}(\sqrt{4-2\lambda})}{\sqrt{(4-2\lambda)(5-2\lambda)}}\right) - \sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)} \left(2 + \lambda - \frac{\sinh^{-1}\left(\sqrt{\frac{1+\lambda}{2}}\right)}{\sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)}}\right)\right\}}\right]^2.$$

Then, Minkowski's inequality (4.4) leads to the following

$$\left[ \frac{1}{4} \left\{ \sqrt{(4-2\lambda)(5-2\lambda)} \left( 9 - 4\lambda - \frac{\sinh^{-1}(\sqrt{4-2\lambda})}{\sqrt{(4-2\lambda)(5-2\lambda)}} \right) - \sqrt{\left(\frac{1+\lambda}{2}\right) \left(\frac{3+\lambda}{2}\right)} \left( 2 + \lambda - \frac{\sinh^{-1}\left(\sqrt{\frac{1+\lambda}{2}}\right)}{\sqrt{\left(\frac{1+\lambda}{2}\right) \left(\frac{3+\lambda}{2}\right)}} \right) \right\} \right]^{2} \\ \geq \left( \frac{1}{6} \left( 4(4-2\lambda)^{\frac{3}{2}} - \sqrt{2}(\lambda+1)^{\frac{3}{2}} \right) \right)^{2} + \left( \frac{3}{8} (5\lambda^{2} - 22\lambda + 21) \right)^{2}, (4.19)$$

for each  $\lambda \in [0,1]$ . In Figure 4, we plot the difference = (left side - right side) of (4.19) against  $\lambda$ . From the graph, it is obvious that the inequality (4.19) is validated for each  $\lambda \in [0,1]$ . Finally, using Beckenbach's inequality (4.7), we derive the following

$$\frac{\frac{1}{64}\left\{\sqrt{(4-2\lambda)(5-2\lambda)}(9-4\lambda)(16(2-\lambda)(5-2\lambda)-3)-\sqrt{\frac{1+\lambda}{2}\left(\frac{3+\lambda}{2}\right)}(2+\lambda)\left(4(1+\lambda)\left(\frac{3+\lambda}{2}\right)-3\right)+3\ln\left(\frac{\sqrt{4-2\lambda}+\sqrt{5-2\lambda}}{\sqrt{\frac{1+\lambda}{2}}+\sqrt{\frac{3+\lambda}{2}}}\right)\right\}}{\frac{1}{4}\left\{\sqrt{(4-2\lambda)(5-2\lambda)}\left(9-4\lambda-\frac{\sinh^{-1}(\sqrt{4-2\lambda})}{\sqrt{(4-2\lambda)(5-2\lambda)}}\right)-\sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)}\left(2+\lambda-\frac{\sinh^{-1}\left(\sqrt{\frac{1+\lambda}{2}}\right)}{\sqrt{\left(\frac{1+\lambda}{2}\right)\left(\frac{3+\lambda}{2}\right)}}\right)\right\}}\right\}}$$
$$\leq\frac{\frac{1}{20}\left(8(4-2\lambda)^{\frac{5}{2}}-\sqrt{2}(\lambda+1)^{\frac{5}{2}}\right)}{\frac{1}{6}\left(4(4-2\lambda)^{\frac{3}{2}}-\sqrt{2}(\lambda+1)^{\frac{3}{2}}\right)}+\frac{\frac{4}{4}\left(16(\lambda-2)^{4}-\frac{1}{16}(\lambda+1)^{4}\right)}{\frac{3}{8}(5\lambda^{2}-22\lambda+21)},\tag{4.20}$$

for each  $\lambda \in [0,1]$ . In Figure 5, to check that (4.20) is true, we plot the difference = (right side - left side) against  $\lambda$ . From the graph, it is evident that the inequality (4.20) holds for each  $\lambda \in [0,1]$ .



Figure 3: Validation of inequality (4.18)



Figure 5: Validation of inequality (4.20)

#### 5. Conclusion

By employing a simple proof technique within the space of trapezoidal fuzzy numbers, we have developed several original enhancements for the integral representations of both classical and recently introduced Hölder's inequality in this research. Applications such as trapezoidal fuzzy Beckenbach's inequality over trapezoidal fuzzy number, trapezoidal fuzzy Cauchy-Schwarz's inequality, trapezoidal fuzzy Minkowski's inequality, and trapezoidal fuzzy Hölder's power-mean integral inequality demonstrate how various existing inequalities related to trapezoidal fuzzy Hölder's inequality can be improved through the newly obtained ones. Our findings are

important advances in inequalities that are potential tools in carrying out analysis in many branches of mathematics.

Funding: This research did not obtain any outside financial assistance.

**Data Availability Statement:** Not applicable.

**Conflicts of Interest:** The authors declare that there are no conflicts of interest regarding the publication of this paper.

#### References

- D.S. Mitrinović, J.E. Pečarić, A.M. Fink, Classical and New Inequalities in Analysis, Springer, Dordrecht, 1993. https://doi.org/10.1007/978-94-017-1043-5.
- B. Benaissa, H. Budak, More on Reverse of Holder's Integral Inequality, Korean J. Math. 28 (2020), 9– 15. https://doi.org/10.11568/KJM.2020.28.1.9.
- [3] A. Ojo, P.O. Olanipekun, Refinements of Generalised Hermite-Hadamard Inequality, Bull. Sci. Math. 188 (2023), 103316. https://doi.org/10.1016/j.bulsci.2023.103316.
- [4] L. Nikolova, L.-E. Persson, S. Varošanec, Some New Refinements of the Young, Hölder, and Minkowski Inequalities, J. Inequal. Appl. 2023 (2023), 28. https://doi.org/10.1186/s13660-023-02934-0.
- [5] H. Finner, A Generalization of Holder's Inequality and Some Probability Inequalities, Ann. Probab. 20 (1992), 1893-1901. https://doi.org/10.1214/aop/1176989534.
- [6] S. Abramorich, J. Pečarić, S. Varošanec, Continuous Sharpening of Hölder's and Minkowski's Inequality, Math. Inequal. Appl. 8 (2005), 179-190.
- [7] R.B. Ash, Measure, Integration, and Functional Analysis, Academic Press, Cambridge, (2014).
- [8] M.A. Ighachane, E.H. Benabdi, M. Akkouchi, A New Refinement of the Generalized Hölder's Inequality with Applications, Proyecciones (Antofagasta) 41 (2022), 643–661. https://doi.org/10.22199/issn.0717-6279-4538.
- [9] J. Tian, A New Refinement of Generalized Hölder's Inequality and Its Application, J. Funct. Spaces Appl. 2013 (2013), 686404. https://doi.org/10.1155/2013/686404.
- [10] J. Tian, Reversed Version of a Generalized Sharp Hölder's Inequality and Its Applications, Inf. Sci. 201 (2012), 61–69. https://doi.org/10.1016/j.ins.2012.03.002.
- [11] L. Frühwirth, J. Prochno, Hölder's Inequality and Its Reverse A Probabilistic Point of View, Math. Nachr. 296 (2023), 5493–5512. https://doi.org/10.1002/mana.202200411.
- [12] J.M. Aldaz, A Stability Version of Hölder's Inequality, J. Math. Anal. Appl. 343 (2008), 842–852. https://doi.org/10.1016/j.jmaa.2008.01.104.
- [13] E.F. Beckenbach, R. Bellman, Inequalities, Springer-Verlag, Berlin, (1983).
- [14] J.C. Bourin, E.-Y. Lee, M. Fujii, Y. Seo, A Matrix Reverse Hölder Inequality, Linear Algebra Appl. 431 (2009), 2154–2159. https://doi.org/10.1016/j.laa.2009.07.010.
- [15] T.Y. Chen, C.-H. Li, Determining Objective Weights with Intuitionistic Fuzzy Entropy Measures: A Comparative Analysis, Inf. Sci. 180 (2010), 4207–4222. https://doi.org/10.1016/j.ins.2010.07.009.
- [16] H. Agahi, R. Mesiar, Y. Ouyang, New General Extensions of Chebyshev Type Inequalities for Sugeno

Integrals, Int. J. Approx. Reason. 51 (2009), 135–140. https://doi.org/10.1016/j.ijar.2009.09.006.

- [17] H. Agahi, R. Mesiar, Y. Ouyang, Further Development of Chebyshev Type Inequalities for Sugeno Integrals and T-(S-) Evaluators, Kybernetika, 46 (2010), 83–95. https://eudml.org/doc/37711.
- [18] H. Agahi, H. Román-Flores, A. Flores-Franulič, General Barnes–Godunova–Levin Type Inequalities for Sugeno Integral, Inf. Sci. 181 (2011), 1072–1079. https://doi.org/10.1016/j.ins.2010.11.029.
- [19] A. Flores-Franulič, H. Román-Flores, A Chebyshev Type Inequality for Fuzzy Integrals, Appl. Math. Comput. 190 (2007), 1178–1184. https://doi.org/10.1016/j.amc.2007.02.143.
- [20] K. Hu, On an Inequality and Its Applications, Sci. Sinica 24 (1981) 1047-1055.
- [21] A. Khrennikov, Nonlocality as Well as Rejection of Realism Are Only Sufficient (but Non-Necessary!) Conditions for Violation of Bell's Inequality, Inf. Sci. 179 (2009), 492–504. https://doi.org/10.1016/j.ins.2008.08.021.
- [22] R. Mesiar, A. Mesiarová, Fuzzy Integrals and Linearity, Int. J. Approx. Reason. 47 (2008), 352–358. https://doi.org/10.1016/j.ijar.2007.05.013.
- [23] R. Mesiar, Y. Ouyang, General Chebyshev Type Inequalities for Sugeno Integrals, Fuzzy Sets Syst. 160 (2009), 58–64. https://doi.org/10.1016/j.fss.2008.04.002.
- [24] Y. Ouyang, R. Mesiar, On the Chebyshev Type Inequality for Seminormed Fuzzy Integral, Appl. Math. Lett. 22 (2009), 1810–1815. https://doi.org/10.1016/j.aml.2009.06.024.
- [25] Y. Ouyang, R. Mesiar, Sugeno Integral and the Comonotone Commuting Property, Int. J. Uncertain. Fuzziness Knowl.-Based Syst. 17 (2009), 465–480. https://doi.org/10.1142/S0218488509006091.
- [26] Y. Ouyang, R. Mesiar, J. Li, On the Comonotonic-★-Property for Sugeno Integral, Appl. Math. Comput. 211 (2009), 450–458. https://doi.org/10.1016/j.amc.2009.01.067.
- [27] H. Román-Flores, A. Flores-Franulic, Y. Chalco-Cano, The Fuzzy Integral for Monotone Functions, Appl. Math. Comput. 185 (2007), 492–498. https://doi.org/10.1016/j.amc.2006.07.066.
- [28] H. Romanflores, A. Floresfranulic, Y. Chalcocano, A Jensen Type Inequality for Fuzzy Integrals, Inf. Sci. 177 (2007), 3192–3201. https://doi.org/10.1016/j.ins.2007.02.006.
- [29]S.H. Wu, Generalization of a Sharp Hölder's Inequality and Its Application, J. Math. Anal. Appl. 332 (2007), 741–750. https://doi.org/10.1016/j.jmaa.2006.10.019.
- [30] Y. Li, H. Wu, Global Stability Analysis in Cohen–Grossberg Neural Networks with Delays and Inverse Hölder Neuron Activation Functions, Inf. Sci. 180 (2010), 4022–4030. https://doi.org/10.1016/j.ins.2010.06.033.
- [31] U.M. Özkan, M.Z. Sarikaya, H. Yildirim, Extensions of Certain Integral Inequalities on Time Scales, Appl. Math. Lett. 21 (2008), 993–1000. https://doi.org/10.1016/j.aml.2007.06.008.
- [32] R.P. Singh, R. Kumar, R.K. Tuteja, Application of Holder's Inequality in Information Theory, Inf. Sci. 152 (2003), 145–154. https://doi.org/10.1016/S0020-0255(02)00300-6.
- [33] M.B. Khan, P.O. Mohammed, M.A. Noor, Y.S. Hamed, New Hermite–Hadamard Inequalities in Fuzzy-Interval Fractional Calculus and Related Inequalities, Symmetry 13 (2021), 673. https://doi.org/10.3390/sym13040673.
- [34] M.B. Khan, P.O. Mohammed, M.A. Noor, K.M. Abualnaja, Fuzzy Integral Inequalities on Coordinates of Convex Fuzzy Interval-Valued Functions, Math. Biosci. Eng. 18 (2021), 6552–6580. https://doi.org/10.3934/mbe.2021325.

- [35] D. Zhao, T. An, G. Ye, W. Liu, Chebyshev Type Inequalities for Interval-Valued Functions, Fuzzy Sets Syst. 396 (2020), 82–101. https://doi.org/10.1016/j.fss.2019.10.006.
- [36] D. Zhang, C. Guo, D. Chen, G. Wang, Jensen's Inequalities for Set-Valued and Fuzzy Set-Valued Functions, Fuzzy Sets Syst. 404 (2021), 178–204. https://doi.org/10.1016/j.fss.2020.06.003.
- [37] R. Goetschel, W. Voxman, Elementary Fuzzy Calculus, Fuzzy Sets Syst. 18 (1986), 31–43. https://doi.org/10.1016/0165-0114(86)90026-6.
- [38] P. Diamond, P.E. Kloeden, Metric Spaces of Fuzzy Sets: Theory and Applications, World Scientific, (1994).
- [39] M. Hanss, Applied Fuzzy Arithmetic: An Introduction with Engineering Applications, Springer, (2005).
- [40] A. Khastan, R. Rodriguez-Lopez, Some Aspects on Computation of Scalar Valued and Fuzzy Valued Integrals over Fuzzy Domains, Iran. J. Fuzzy Syst. 20 (2023), 1-17. https://doi.org/10.22111/IJFS.2023.7635.
- [41] M.B. Khan, J.L.G. Guirao, Riemann Liouville Fractional-like Integral Operators, Convex-like Real-Valued Mappings and Their Applications over Fuzzy Domain, Chaos Solitons Fractals 177 (2023), 114196. https://doi.org/10.1016/j.chaos.2023.114196.
- [42] Y. Zhang, Multi-Slicing Strategy for the Three-Dimensional Discontinuity Layout Optimization (3D DLO), Int. J. Numer. Anal. Methods Geomech. 41 (2017), 488–507. https://doi.org/10.1002/nag.2566.
- [43] Y. Zhang, X. Zhuang, A Softening-Healing Law for Self-Healing Quasi-Brittle Materials: Analyzing with Strong Discontinuity Embedded Approach, Eng. Fract. Mech. 192 (2018), 290–306. https://doi.org/10.1016/j.engfracmech.2017.12.018.
- [44] Y. Zhang, X. Zhuang, Cracking Elements: A Self-Propagating Strong Discontinuity Embedded Approach for Quasi-Brittle Fracture, Finite Elements Anal. Design 144 (2018), 84–100. https://doi.org/10.1016/j.finel.2017.10.007.
- [45] Y. Zhang, X. Zhuang, Cracking Elements Method for Dynamic Brittle Fracture, Theor. Appl. Fract. Mech. 102 (2019), 1–9. https://doi.org/10.1016/j.tafmec.2018.09.015.
- [46] Y. Zhang, H.A. Mang, Global Cracking Elements: A Novel Tool for Galerkin-based Approaches Simulating Quasi-Brittle Fracture, Int. J. Numer. Methods Eng. 121 (2020), 2462–2480. https://doi.org/10.1002/nme.6315.
- [47] Y. Zhang, X. Zhuang, R. Lackner, Stability Analysis of Shotcrete Supported Crown of NATM Tunnels with Discontinuity Layout Optimization, Int. J. Numer. Anal. Methods Geomech. 42 (2018), 1199–1216. https://doi.org/10.1002/nag.2775.
- [48] Y. Zhang, M. Zeiml, C. Pichler, R. Lackner, Model-Based Risk Assessment of Concrete Spalling in Tunnel Linings under Fire Loading, Eng. Struct. 77 (2014), 207–215. https://doi.org/10.1016/j.engstruct.2014.02.033.
- [49] Y. Zhang, R. Lackner, M. Zeiml, H. A. Mang, Strong Discontinuity Embedded Approach with Standard SOS Formulation: Element Formulation, Energy-Based Crack-Tracking Strategy, and Validations, Comput. Meth. Appl. Mech. Eng. 287 (2015), 335–366.
- [50] Y. Zhang, Z. Gao, Y. Li, X. Zhuang, On the Crack Opening and Energy Dissipation in a Continuum Based Disconnected Crack Model, Finite Elem. Anal. Des. 170 (2020), 103333.

- [51] Y. Zhang, X. Yang, X. Wang, X. Zhuang, A Micropolar Peridynamic Model with Non-Uniform Horizon for Static Damage of Solids Considering Different Nonlocal Enhancements, Theor. Appl. Fract. Mech. 113 (2021), 102930. https://doi.org/10.1016/j.tafmec.2021.102930.
- [52] Y. Zhang, J. Huang, Y. Yuan, H.A. Mang, Cracking Elements Method with a Dissipation-Based Arc-Length Approach, Finite Elements Anal. Design 195 (2021), 103573. https://doi.org/10.1016/j.finel.2021.103573.
- [53] Y. Zhang, Z. Gao, X. Wang, Q. Liu, Predicting the Pore-Pressure and Temperature of Fire-Loaded Concrete by a Hybrid Neural Network, Int. J. Comput. Methods 19 (2022), 2142011. https://doi.org/10.1142/S0219876221420111.
- [54] Y. Zhang, X. Wang, X. Wang, H.A. Mang, Virtual Displacement Based Discontinuity Layout Optimization, Int. J. Numer. Methods Eng. 123 (2022), 5682–5694. https://doi.org/10.1002/nme.7084.
- [55] Y. Zhang, Z. Gao, X. Wang, Q. Liu, Image Representations of Numerical Simulations for Training Neural Networks, Comput. Model. Eng. Sci. 134 (2023), 821–833. https://doi.org/10.32604/cmes.2022.022088.